|
BASS I
250K Log

SPEED
3M Rev log

MIDINLE
10K lbg

MOJOTONE TWIN REVERB WIRING DIAGRAM

VIBRATO

1y

BASS
250K Log

NORMAL

=)

TREBLE \
250K Log

TREBLE I VOLUME
250K Log H ™ LU h

—_—

4700 ~

#8 GROUND
TAB
#8 GROUND
TAB
INSULATE —
0JO/6
PO O
MOJO777
#3/GROUND CHOKE
TAB t
[

, ”)\r—‘ 700 2B
I S /
6 6
4
3 8
6L6GC
\\
\\\\N
POWER 2.5 AMP.
CORD GROUND FUSE

HARDWARE:

20 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS, BRIGHT SWITCHES, AND CAPACITOR PAN
8 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS

28 QTY 4-40 KEPS NUTS

7 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARDS

7 QTY 6-32 KEPS NUTS

8 QTY 8-32 X 1/4" SCREWS FOR REVERB DRIVER, OUTPUT TRANSFORMER, AND CHOKE

4 QTY 8-32 X 3 1/4" SCREWS FOR CHASSIS

ool S
o 0 2
< . RS
o) S R
o & S - =
s
- - )
e, ~ ué — o - .‘
S ' = .
o
ﬁ l U
0
'\
MOJO775
OUTPUT TRANSFORMER
9 9 9
8
1 1 1
6 6 6
o 4 VAN o 4
INSULATE ) ~ N
12AX7
12AT7 lsf:é:; 7025
ECC83
B O
o EXT. VIBRATO
ON/OFF
/ STANDBY SPEAKER SoKE. PEDAL

16 QTY 8-32 KEPS NUTS FOR CHASSIS, POWER TRANSFORMER, OUTPUT TRANSFORMER, REVERB DRIVER, AND CHOKE

4.7nF

0
47nF
47nF
47nF

22nF
%0
o
Oo
o

0JO776
RE B DRIVER
9 9 9
8 8
1 1 1
6 6 6 2
S 4 IAN s, °
= S— =
12AX7 12AX7
12AT7 7025 7025
ECC83 ECC83
5 N N
REVERB REVERB REVERB
PEDAL OUTPUT INPUT

" TWIN REVERB
REVISION 3
12/21/2023

T AN E=






